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ssamflesd oylefiucy / COMPUTER SCIENCE
( sWIp wHyD Spufla auft / Tamil & Eng]isb Version)

[ @rgs wduGusstssar : 70

S jemay : 3.00 wenfl GHFb |
[Maximum Marks : 70

Time Allowed : 3.00 Hours |
ofeyengast : (1) omarig eflamdaEnn sflurs ufleurdl o drangr eTETLIBMS sfluTisgs
Garerarath. oFsudadd genpullamindan, Siepmd SemameniurariLib
e L angwunss Agfelssea)b.
(2) feob ey SEHOY wolmear LLHGL TpEasHED,
e &GargHashhd Luauhss Caa(o. UL RgGE auanTelshE
Quardlé LweTuRESS|D.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to wrile and underline and pencil to draw diagrams.

u@d -1 /PART -1
@By ) Sienanggl dardsErEs sl walssab. 15x1=15

) Qar@ssuulGéret pastE wrpyn daLseld Wsed ghyeLw
enenwg Caiplsbsssd GMICHLE e Wamayn Corsg
ST(PSELD.

Note : (i)  Answer afl the questions.

(i) Choose the most appropriate answer from the given four alternatives and swrite
the option code and the corresponding answer,

[ $muys / Turn over



7672 2

1.

e saflu@urh gewgpapuidr garidamomhs shpsd LwauBESLCLE 7
(<) ppépnd g@aupap (&) (WpBeMD Fenarpenn

(@) prevamd goeapenm (rr) @r&rLmb gmeneoapenp

Which generation of computer used JC's ?

(a)  Third generation (b)  First generation

()  Fourth generation (d) Second generation

velligs sedupp elariisamens soilisg, @euduvreaeupenn wi BGL EHlEED
ueniludlen ~oDskiEET eTam DPEELUBEE :

(=1) emiidamarssd (<25,) elougds @il

(@) IfNzse (") i@maLTésD

Omitting details inessential to the task and rapresenting only the essential features of the task
is known as :

{a) Composition (b) Specification

(c) Decomposition : {d) Abstraction

EDEaTEmID WLGE aHFmen (peop FUkIED ? 7

i:=0
whilei # 5
ir=i+1
(=) 6 ()4 (&) o () 5

How many times the loop is iterated ?

i:=0
whilei = 5
i:=i+1

@ 6 ® 4 @ o @ s
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psmamicupmiet ergl euenyGluidiame Qewup@ilurgh 7

(<o) > () :: (@) & () %

Which of the following is the scope operator ?

@ > L) e ©) & (d %

Caeeanpp Warangisma I@ssais@Enss uflorbon GFlaug areur
gmgé&ﬂu@&ﬂﬂ)g.

{<=4) 2emipes {<21,) Gomsg (@) dvpealb {m) evCGuib
Distributing unwanted e-mail to others is called

(a) scam (&) fraud (c) spoofing (d) spam

CH++ -ad aab QrunpEh s G wrfl QeupEilurs LweauBss0-
uBEmng.

(=) - (=) + (8 -+ () v
InC+____isused for pointer lo a variable.

(@ - L) + @ = @ =
Wenaupeusteupficr argi mevipa) Gamdling o &g ?

(=) H (<) for - (@) do-while (/)  switch

Which of the following is the Entry Control loop ?

(a) if ) for (¢} do-while (d) switch
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Ceon ' flamampmy maeg isrhmib

(e ) iflememgny aoeg o é ndinammen

(&) gray e @ ofinehmb

(m] Berergmy sra) Luflionmon

Legal revopmition for transactions are carried out by :

(a)  Electromic Data Transfler

(bi  Electrenic Data Interchange

(¢}  Data Interchange

(d)  Electronic Data Exchange

Frojamenuyn, bewhamsenaiyd g QUTRT areargyin CUMTIEDDHGET @enprail]
Senandgy wead@h Qeudm ub

(<B4 EAMEULNESLD (=) vegymaurésb
(&) wryflom () zepurdwnssin

The mechanism by which the data and function are bound together into a single unit is
known as :

{a)  Abstraction (b)  Polymorphism

() Inheritance (d)  Encapsulation



10.

#include<iostream>
using namespace st

int mamy{)

{
int i=1, sum=0;
while(i<=10)
{
sum=sum-+i;
it+;
1
cout<<sum;
return O;
1
CuGer 2 érer Hlyedlen Ceuafui® wng ?
(1) 55 (<) 54 (@) 51
#include<iostream>

using namespace std;
int main()
{

int i=1, sum=0;

while(i<=10)

{
‘sum=sum-+i;
it+;
}
cout<<sum;
return 0;
}
The output for the above snippet is :
(a) 53 by 54 () 51

() 50

C)]

50
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11.

12,

13.

14.

srergriisaild g Gartnlar inp@onufli LI LIRS BILD @[mff-@w'ﬁ chlana :

(=) T5 («2) F2 (&) ¥o () T4
The shoricut key used to rename a file in Windows,
(@ Fs ) F2 {© To (d) F4

Sereumn apdralyadE SpEseTLeupmEr ohy <gsd Guissu@n ?
add display (add &); // add eranLg) Gend@pedar Gluwi.

(=) pEd <5d (<) preneniey <58

() HeTYmESET Blbars tﬂ,é)eﬂ . (FF)  HEmLy(HHS(EHLEH Fnlgpil s

Which of the following constructor is executed for the following prototype ?
add display(add &); // add is a class name.

(a) Copy Constructor {b) Default Constructor

(c) Non-Parameterized Constructor (d) Parameterized Constructor

asafiiE@urdluier enowd Qewuassde G Haeaflen erameantsans ereueumg ol -
LG &pg ? : :
(1) Gout® fard (<) @ (@) o () i

Which refers to the number of bits processed by a computer's CPU ?
(a) Word length (b) Byte {c) Bit {d) Nibble

2ar (h @wss ey a(phiGh euss
(<21) 2aimepioimer GEID CsLNEsSD
(=) grey N Guimsid

(@) urgamiy Gueararan

(/) eusnrasene LwWenT Genl(p&ED
Interactive operating system provides :

(a) Real Time Processing

(b) Data Distribution

(©)  Security Management

(d) Graphics User Interface



7
15, dateuhouaeunmst el eh CISC Clawed -uasn 7
(<) Pentium 11 (<=,) Intel P (@) Pentium IV {r) AMD K6
Which of the following is a CISC processor ?
(a) Pentium I (b) Intel P6 (@) Pentium IV (d) AMD Ké
ugsdl - 11/ PART - [1
sPLy : semauGuant 2yp Hemiserig o wsflisann. e aar 24 -5&
sU_Lmuons eflalwe$sab. 6x2=12
Note : Answer any six questions. Question No. 24 is Compulsory.
16. apsenesis Flopanausid wpmib @ e mb Hee Henereusih — Gaumupsgs.
Distinguish Primary and Secondary Memory.
17, (1324); -&15 Bayren LEnn aaEmaniis WrDNs.
(1324),, - convert to equivalent Decimal number.
18. U LWaTt @uiss enliL| eTaTprd arener ?
What is Muili user operating system ?
19. const Hwiiy Qere Lnd ThHisssTGLer dny GHlLY eTipsIs.
Write a short note on const keyword with example.
20. void gray cuaaudlar (p&SuSEaRISET Wramal 7

What are the importance of void data type ?
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22

23,

4.

urte ereemned cramen 9
What are Wares ?

B8 Comasaiwen anpaull comd Co5 QurBamen LinusiBa
List the warch ergines sepportnd by Tamad Language

Cpdlapenp - e T R
Define an alpoites

L9ahw Sirddidr Qe e S
#includes imtregan >
ULENE Rasmewpuce sad
Nt mmaing §
l
L NS
fovfi=Cresyuny
O € Sy
feturn O
|
Write the custpest of ghe Al g prevyram,
Firu hude<womtreamm s
Using nemespace sat
st oy )
{
myg
for(ptpesijee)
IR <3< eyl
return O
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GO amnagm oyml eaman@pdg ol wpeildmain. el sreim 3% -6

Nole @

L 25.

4

26.

2
~¥

29;

30.

31

32.

33.

Z - 3 Ax3=18
S_bnuwionag &@lent wellamapn
Answor any six questions, Question Neo. 33 is Compulsory.

ofy sphdl Qualgennds uihild @ity awgs.

Write a note on Recyele bin,

e @ed@uomal sHels@bGUTE souasfa Qararar Gaamauienel Lree 7

What are the points to be noted while deriving a class ?

Qpflapeopulen, Beme sreueumn @A OLGAeDSE ?

How is state represented in algorithms ?

XOR cumuSleRes G g Wi eTipgIs.
Give the Truth Table of XOR gate.

isupper( ) wpmnb toupper( } Gewpspsaiar Goupur® wrg ?
What is the difference between isupper{ } and toupper( ) functions ?

CD whmb DVD — Caumubhsss.
Differentiate - CD and DVD.

Devrussden AL sss Aplfudysame i upbl eripss.

Write the significant features of monitor.

Dy GTEAMITED GTEITEN 7 ~HSEH CUENLSENET CT(LRSIS.
What is an array ? Wrile its types.

do-while w_&Rman’t LLSTLHSS 5 @se 1 cueny earar sransaen QouafluiiL. Cr+
Blyevey 6TDHIS.

Write a C++ program to display number from 5 to 1 using do-while loop.
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L@d - IV / PART - IV
Gy ;. symangg eflarsaEhsEh ofamwafllEsa|b.
Note : Answer all the questions.
3. (&) g sefl@QUIRe wigtiue Unskisamsns @gaflarar shlensHUILILSEILET
eflend @ s,
60605
() LTeud @ wEs sienwlidan smssim LbH eferéses. Grogubd <2|FE LILGTLITG &eiT
wirenay ?
{(a) Explain the basic components of a computer with a neat diagram.
OR
(b) ~ Explain the concept of a Distributed Operating System along with its advantages.
35. (=) Wemaugpeauamsupenn Emblenes ereir augeflas sl (.
®  (~2030+Bho @ (—12)0+ (15)g0
. S EeEI
{c2p) Qewpaam L@l aampma aerar ? GleEwmanm Leaflfl b perear
ailflapenmaer wirene 7
(a}) Perform .binary addition for the following,.
@ (~2150+Gho M (~12)i0+ (150
OR

(b) What is function overloading ? What are the rules for function everloading ?

36. (21) ROM -a1 eusmssenarl Libi AlGTHESHONE aT(PFIS.
AR
(<) if-clse pQUD switch SppsERsRlen Guwrear wpidu Caupurhsamer erpgs.
(a) Explain about the types of ROM.
OR

(b) Write the differences between if-clse and switch statement,



n

37, (=) QruefuSi s aaprd erener ? olpith apag Goaflll@ srgemisener
Qﬁkw‘ré,@aﬁ_

{a)  What is an output unit ? Explain any three output devices.
=isoeogl [ OR
(=) Wenaumb Predlen, Qaueluiten erpss.”
(b)  Write the output of the following program.
#include<iostream>
using namespace std;

class student

{
int mo, marks;
public:
student(int r,int m)

cout<<"Constructor'<<endl;
INO=I;

marks=my;
void printdet( )

marks=marks+30;
cout<<"Roll no :"<<rmo<<"\n";
cout<<"Marks :"<<marks<<endl;
}
H
int main( )
{
student s(14,70);
s.printdet{ );
cout<< "Back to Main";

return 0;
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38.

12

(1) oryfwgdear LuoCGaum cuemanmer efeufléaaib.

Explain the different types of inheritance.

(a)

Slevsugl / OR

(o) Weteugpn C++ Blradled e erer Ganpamener HmEsIs-
Debug the following C++ program.

Qutput :

Total area ! 33

Program :

%include<iostream>

using namespace std:

CLASS Shape

)

i

Private ()}
int count
Protected;
int width;
int height;
PUBLIC;
Void setwidth [int w]
{

width=w;

ki
void setheight (int h)

{
height=h;
}
)
Class rectangle : : Fublic Shape
{
Public
int getarca [ ]
l
return {width * Height);
)
t
int MAIN( )
{

rectangle rect :
rect. setwidth(5);
recl.setheight(7);

cout>>"Total area : "<<rect.getarea( )<<endl;

return 0;

-00o0-
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